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” 8 ol OO 5 1% 8.4 0.7 2.0 2 11 250 0.98]  0.041|  0.002 0. 00006 0. 0008
n 9 [a]|=sa| OO & U Rl 7.9 0.5 1.2 2 11 18 0.47| 0.012]  0.001 0. 00006 0. 0006
3 Jill 10| b | =) OfO T 1% 7.6 3.6 5.6 15 6.8 370 4.6 0.35 0.018 0. 00009 0. 030
" 1| p|xes B i3 7.5 1.7 3.7 7 6.9 500 3.3 0.20|  0.041 0. 00009 0.017
% Jifiz]| o [=es|O|O[L ES 1% 7.3 2.9 5.1 18 6.1 1300 5.2 0.26] 0.017 0. 00006 0. 0034
JHE A A 1)1 [13 E i i3 7.7 2.7 4.0 4 7.4 3500 4.1 0.20|  0.009 0. 00006 0.014
1 14 i 1% 7.6 1.7 2.9 6 7.0 2800 4.0[  0.071|  0.008 0.00013 0. 030
=) Jilf 15 s & i Al 7.3 2.3 5.7 10 6.4 8600 6.4 0.30 0.016 0. 00009 0. 0026
#wo B Jifie Zitd W 7.3 1.6 4.9 7 6.6 2200 4.4 0.23] 0.015 0. 00006 0. 0028
" 17 ST R R e AR W 7.7 2.6 6.2 8 6.6 2100 2.5 0.27|  0.019 0. 00007 0.011
[ Ji| 18| ¢ |=es|Of O] F OB 7.6 5.0 5.8 17 7.8 720 3.1 0.26] 0.019 0. 00007 0.019
I 19] ¢ [2on i ) % 7.7 4.1 5.7 14 7.8 470 4.5 0.30] 0.023 0.00016 0. 049
A 20| a|=ms|O[O|A X 18 7.7 1.8 3.7 9 8.8 88 3.5 0.16|  0.006 0. 00008 0.0011
" 21| A |=ee|O|O| % & % 8.0 0.9 2.0 4 10 22 2.6  0.091 0. 004 0. 00006 0. 0021
" 22 A | ) i % 8.9 1.1 3.3 7 12 26 3.0 0.12|  0.005 0. 00006 0. 0007
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" 24| A | o o K % 7.8 1.5 2.5 3 9.8 430 3.8 0.18|  0.007 0. 00006 0. 0008
" 25| A |=ma|O|O|#& vo& — B 8.3 0.5 1.3 1 11 52 0.84]  0.031 0.001 0. 00006 0. 0006
oo Jifze| B |ees|O|O|TE = i 7.6 2.2 3.8 8 8.2 70 4.1 0.21|  0.008 0. 00008 0.0019
" 27| A |=ee|O|O| 4 ) % 7.9 0.7 2.8 3 11 180 3.3 0.24|  0.005 0. 00006 0. 0006
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i1 Ji1[40 W% % 8.3 4.4 7.7 10 11 1900 4.0 0.55  0.009[< 0.00006 0. 0076
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R E - JIl|42faa]=es|OfO I % 8.5 0.6 1.6 2 11 260 1.1 0.050] 0.001 0. 00006 0. 0009
WA Ji[43] A [=ea|O]O s % 8.6 0.8 2.0 1 11 410 1.7 0.077]  0.001 0. 00006 0. 0024
oo JIf4a = % 8.2 0.6 1.4 1 10 33 0.57|  0.013]  0.002[< 0.00006 0. 0006
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" 46| ¢ [=5|O]O ES % 7.7 2.2 5.5 13 9.1 — 3.4 0.20  0.011 0. 00006 0. 0043
" 47| ¢ |wn g & 7.4 2.0 5.4 18 7.7 — 2.7 0.16]  0.014 — —
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h Jil|49| ¢ [ o = 1% 7.4 2.1 5.7 26 7.9 250 2.5 0.17|  0.011{< 0.00006 0. 0035
” 50| ¢ [en 17 ES % 7.6 2.6 5.5 19 8.4 260 2.8 0.19]  0.011{< 0.00006 0. 0047

" 51| ¢ | S 1% 7.6 2.6 5.7 17 8.2 300 3.2 0.22|  0.014{< 0.00006 0. 0046

W l|s2| ¢ [=s|O]O|PN i % 7.4 2.0 5.6 11 6.1 — 3.8 0.20]  0.020[ 0.00007 0. 0056
” 53| ¢ | F £ % 7.4 2.9 7.1 17 6.7 — 3.3 0.22|  0.027 — -
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" 73| ¢ | s £ JB % 7.5 0.5 1.7 3 10 530 4.3 0.019]  0.004/< 0.00006 0. 0009
oo Ji|7af o |res|Of O] & 7.3 1.4 5.4 6 8.9 3000 6.0 0.36]  0.025[  0.00006 0. 0008
1 75| C |aen - el % 8.3 1.0 2.5 2 12 590 2.2 0.060]  0.003|< 0.00006 0.0014
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=TT i K B fe) [e] E N ES % 8.1 2.3 4.5 2 11 1900 8.1 0.14]  0.018[< 0.00006 0.018
" 78| C [xon A = & 7.4 3.0 5.5 4 9.0 — 8.2 0.27|  0.020[< 0.00006 0. 0065
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5& /il ez B |xes|O|O| %7 R & 7.5 2.1 5.0 11 9.4 1100 7.9 0.45  0.033[  0.00006 0. 0078
oo Jfesfal=es|OfOlE O & 8.9 0.9 2.0 4 11 22 0.77)  0.017|  0.001f< 0.00006 0. 0007
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